Peter McCord - 12:57pm Jan 30, 1999 PST (#595 of 626) 

Mark Twain on Southern California: "I fell into the river and came out all dusty"

The following is a compilation of errata and clarifications for TCS that I received from the Gamers-L (long post)...they are in order of case number for clarications, errata is at the end: 

6.14b Once you've assigned a reserve or alternate to a mission, you must keep rolling each turn until the reserve or alternate is activated. 

6.16 A unit can be dug-in in any type of terrain. 

6.5c Enemy Contact is defined as being fired upon by any direct fire, ex. not in-direct artillery fire. 

6.6 Units cannot be identified as objectives on an op sheet. 

8.1a LOS must pass through the potential blocking symbol to be blocked, otherwise it is not, rule of thumb - play that a LOS passing (squeaking?) between two close together buildings or trees is blocked because it takes more than a laser thin line to apply a unit's fires, a unit must have an area to fire through, most cut between the buildings LOS's aren't wide enough to afford a good field of fire. 

8.3c Forest and woods are the same (for LOS, different MP costs), City and village/town are the same. Buildings (not in cities) block LOS if it goes through the symbol. 

8.3c when firing through a hex the LOS cannot pass through the symbol in the hex but can pass through the hex itself subject to 8.1a. 

8.3e features in an origin or end point hex of a LOS never block the LOS 

10.0a B defence units can only absorb 1 hit. 

10.0f If the carrier is eliminated through point or area fire, then anything being carried/towed is eliminated. But follow the normal method of distributing step losses for area fire. The first step goes on the biggest unit, including units being carried. Next step is assigned by the defender/ target, so it can be any unit in the hex, whether it's being carried or not. The third step is assigned by the firer, and that's when you see the B targets getting hit, since killing them takes the unit in them as well. So effectively it takes a '3' result or higher to kill a carrier and its passengers. 

10.0f When a stack has two or more units with an equal number of steps, the owner gets to choose which unit will take the first casualty 

13.1d ... can combine their fires on the area fire table to do a SFA. Further, a SFA can be a single point firer or several point fires firing in succession at a target hex. 

14.0 Units do not have to begin the phase in the same stack to fire overwatch as a stack later in the same phase 

14.0 .. one stack in one hex of all the eligible units which can see the trigger can take advantage of it, including mortars and their spotters. 

14.2b An enemy unit moves into a smoke hex. A friendly unit with a LOS to the smoke hexside crossed cannot fire overwatch at the moving unit if the LOS travels through the smoke hex unless adjacent. 

14.2b A unit moving adjacent regardless of smoke or terrain generates an overwatch trigger. 

14.3b A unit that has fired an SFA cannot perform an AT Overwatch fire or overwatch, period 

16.1a Steps lost due to a Morale Check (i.e. Surrender) or SYR (i.e.unit dissolves) do not count for battalion morale purposes 

16.1a The 1 or 2 addition to Battalion morale takes effect based on the required losses of the attack as per the area fire results, not the actual losses sustained by a unit. ex. an infantry unit with 4 step losses is fired on again requiring four more step losses, unit is destroyed and battalion morale increases 

16.2a If two units in a hex are determined to have the same "worst morale" it is the owners choice. Modifiers from the morale table are then applied, allows use of dug in bonus. 

17.2b A unit that spots for artillery (having been in fire mode since the beginning of the turn), may move later in the phase after having spotted for the artillery 

17.7a Units under the rocket zone fail morale and SYR, they do not get attacked again by the rockets during the SYR. 

17.7b Bad shoot smoke barrages, scatter the smoke one hex in a random direction. 

17.7c Illum drift - roll one dice for distance, one dice for direction 

22.1a If a unit becomes suppressed or paralysed in an assault combat and then makes a SYR they are in move mode at the end of the SYR and lose their paralysed or suppressed status 

24.0a A tank carrying an MG section can participate in a combined assault along with other tanks carrying infantry, the tank can fire but the MG can't 

25.1e Point fire vs. vehicles as carriers carrying infantry. If some vehicles are killed the inf steps lost are proportional to the lost carrying capacity, the infantry does not check morale as loss was not caused by area fire table. 

25.2a A unit in an artillery barrage zone cannot spot for mortars. 

25.2a A unit can spot for a mortar SFA without participating in the SFA itself 

25.2b A mortar unit that moves and then flips to fire mode can respond to overwatch fires later in the same phase subject to the one shot per phase rule 

25.4b 100mm or greater IG's can attack tanks via the arty vs. point targets table, each gun may fire at ONE target per stack, not the whole stack, out to an 8 hex range. 

27.2c Treat Illum as good fire missions that are removed at the beginning of the owners next action phase - further changes to the sequence of play section required 

27.2d Smoke in Illum hexes only block LOS in the hexes the smoke occupies the rest are still visible under normal illum and LOS rules 

27.2e Fire into illum hexes does not allow the target unit to use the firing unit as an overwatch return fire trigger 

Point Fire Chart - Towed AT guns in move mode fired on by point fire get the -2 target modifier. - AA and INF guns are considered AT guns for the Special B rule and for the modifiers on the point fire table 

TCS Series (ver 3.1)

1. The Area Fire Table's "Three Dice" result columns shifted one space to the left each of the dice results at the right of the table is one column left of where it should be. This was corrected in the printing of these tables in Black Wednesday and beyond. 

2. In the example of SYRs after rule 16.2, the Morale Table die roll should be 56, not 36, and the SYR Table roll should be 3, not 4. Finally, the SYR result of the example should be "Retreat 4 Hexes, -1 step", not "Retreat 5 Hexes, -1 step". 

3. Step 5 of the LOS explanation (rule 8.2) should read ". . greater than..." not "...greater than or equal to...", so as to conform to the diagram at the top of the page (which is correct). 

4. The reference in 8.3c to 8.3h is in error - there is no 8.3h. Ignore the reference. 

5. Vehicles and carriers which conduct an SYR with other (presumably SYR-capable units are not exempt from Overwatch fires - their movement generates Overwatch fires normally. 

6. As an expansion to rule 17.7a, Rocket Artillery, place a barrage marker long enough to execute any potential artillery vs point target attacks. When those are resolved, remove the marker. The presence of this marker is those point attacks only - no attacks are made against units which SYR (or whatever) within the temporary barrage zone. 

7. Rephrase this sentence in 1.2 and 16.5e. AUnits must end thier retreat further from all enemy units (counting only those units which have the retreating unit in range and LOS when the retreat begins) than when they begin the retreat. 

8. Ignore all references to a Amoving in a minefield@ modifier in 21.0d, and anywhere else, as there is no such modifier. 

9. All minefield hexes, breached and unbreached, are bottleneck hexes, 20.1c indicates breached only.
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